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  Roll No. ………… 

    B.Com. -10 (Bachelor of commerce) 
Second Year, Examination – 2012  

BC- 10  
Business Organisation and Management 

�यावसा�यक संगठन और �बंधन 

            
Time: 3 Hours           Maximum Marks: 60 

Note: This paper is of sixty (60) marks divided into three (03) sections. Learners 
are required to attempt the questions contained in these sections according to the 
detailed instructions given therein. 

नोट: यह �	न प� साठ (60) अकं� का है जो तीन (03) खडं� म�  वभािजत है | 

%श'ा(थ*य� को  इन खंड� म� ,दए गए  व0ततृ 2नद3श� के अनुसार ह7 �	न� का 

चयन करना है |                  

                                         SECTION – A /   भाग- क 

                        (Long-answer - type questions) / (द�घ� उ�तर�य ��न)  

Note: Section ‘A’ contains four (04) long-answer-type questions of fifteen (15) 
marks each. Learners are required to answer two (02) questions only.                  

नोट :भाग 'क' म� चार (04) द7घ* उ:तर7य �	न ,दये गये है  �:येक �	न के %लए 

प<=ह अंक 2नधा*?रत है, �श�ा�थ�य	 को इनम� से केवल दो ��न	 के उ�तर देने है।                  

        (2*15=30)     
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1. What are the probable dangers and negative effects of globalization? 

Discuss. 

oS”ohdj.k ds lEHkkfor [krjs ,oa nq’izHkko D;k gSa\ foospuk dhft,A 

2. What is meant by Decision Making? Explain in detail the process of 
Decision-Making? 

fu.kZ;u ls D;k vk”k; gS\ fu.kZ;u izfØ;k foLrkj ls le>kb;sA 

3. Explain the characteristics of planning. Are there difficulties in the path 

of planning? How can the planning be made more effective? 

fu;kstu dh fo”ks’krkvksa dk mYys[k dhft,A D;k fu;kstu ds ekxZ esa dfBukb;ka gS\ 

fu;kstu dks fdl izdkj vf/kd izHkkoh cuk;k tk ldrk gS\ 

4. What are the new issues in management? Discuss the factors responsible 

for emergence of new horizons of management? 

izca/k ds u;s eqn~ns D;k gSa\ izcU/k ds u, f{kfrt ds mn~Hko ds fy, mRrjnk;h dkjdksa 

dh foospuk dhft,A 

SECTION – B/ भाग ख 

(Short – answer – type questions) / लघु उ�तर�य ��न 

Note: Section ‘B’ contains eight (08) short- answer type questions of five (05) 
marks each. Learners are required to answer four (04) questions only. Answers 
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of these questions must be restricted to two hundred fifty (250) words 
approximately.                            (4*5=20)                                                                              

नोट :भाग 'ख ' म� आठ (08) लघु mRrjh; iz”u  ,दये गये है  �:येक �	न के %लए 

पांच अंक 2नधा*?रत है, �श�ा�थ�य	 को इनम� से केवल चार ��न	 के उ�तर देने है। 

�:येक �	न का उ:तर दो सो पचास (250) शAद� से अ(धक नह7 होना चा,हए।                         

 Briefly discuss any four (04) of the following; 

 2नDन म� से �क�ह�ं चार (04) ��न	 के उ�तर देने है।                  

1. Management and its limitations. 

izcU/k ,Oak bldh lhek,asA 

2. Essentials of co-ordination. 

leUo; ds ewy rRoA  

3. Factors affecting motivation. 

vfHkizsj.kk dks izHkkfor djus okys ?kVdA 

4. Entrepreneurship. 

m|ferkA 

5. Corporate governance. 

fuxeh; izcU/kA  

6. Responsibility of Business. 

O;olk; dk lkekftd nkf;RoA 
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7. Distinction between equity and preference shares. 

Lkerk ,oa vf/keku va”kksa esa varjA 

8. Different approaches to finance function.                                       

foRr dk;Z dh fofHkUu fopkj/kkjk,aasA                               

                                                      SECTION – C/ खडं ग 

                                (Objective – type questions) / व�तु�न�ठ ��न   

Note: Section ‘C’ contains ten (10) objective –type questions of one (01) mark 
each. All the questions of this section are compulsory.                           (10*1=10)                                                      

नोट :भाग 'ग' म� दस (10) व0तु2नEठ iz”u  ,दये गये है  �:येक �	न के %लए एक  

अकं 2नधा*?रत है | इस खडं के सभी ��न अ"नवाय� है |                                  

Indicate whether the following are true or false; 

इं(गत कर� Fक 2नDन%लGखत सह7 है या गलत |  

1. Efficient leadership is a basic function of management.  

dq”ky usr`Ro izcU/k dk ewyHkwr dk;Z gSA 

2. Staffing includes Placement.  

LVkfQax esa fu;qfDr lfEefyr gSA 
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3. The management of personnel is also called Staffing.  

dkfeZdksa ds izcU/k dks LVkfQax Hkh dgk tkrk gSA  

4. Organisation Theory deals with Industrial relations.  

izca/k fl)kUr vkS|ksfxd laca/kksa ls lacaf/kr gSA 

5. Directing function of management implies leadership and motivation.  

izcU/k dk funsZ”ku dk;Z usr̀Ro ,oa vfHkizsj.kk ij ykxw gksrk gSA 

Indicate the correct answer-option; 

उ:तर के %लए सह7  वकHप का चुनाव कIिजए : 

6. Planning function is mainly performed at; 

A. Top management level 

B. Middle management level 

C. Lower management level 

D. None of the above 
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fu;kstu dk;Z eq[; :Ik ls fd;k tkrk gSA 

A. “kh’kZ izcU/k Lrj  

B. e/; izcU/k Lrj  

C. fuEu izcU/k Lrj  

D. mijksDr esa dksbZ ugha 

7. Which of the following is the role of a good leader? 

A. Motivating employees 

B. Creating Confidence 

C. Building Morale 

D. All of the above 

fuEu esa ls ,d vPNs usrk dh D;k Hkwfedk gS?                          

A. deZpkfj;ksa dks vfHkizsfjr djuk 

B. vkRe fo”okl dk l`tu djuk 

C. eukscy cukuk 

D. mijksDr lHkh 
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8. Management is 

A. An art 

B. A science 

C. Both (A) and (B) 

D. None of the above  

izca/k gS 

A. ,d dyk 

B. ,d foKku  

C. , vkSj ch nksuksa 

D. mijksDr esa ls dksbZ ugha 

9. What is the correct sequence of the following functions of a manager in 

an organisation? 

1. Motivation 

2. Controlling 

3. Organising 

4. Planning 
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A. 4,3,2,1 

B. 4,3,1,2 

C. 3,4,2,1 

D. 3,4,1,2 

,d laLFkk esa ,d izca/k ds fy, fuEufyf[kr dk;kZasa dk lgh Øe D;k gSa? 

1. vfHkizsj.kk 

2. fu;a=.k  
3. vk;kstu 

4. fu;kstu 

A. 4,3,2,1 

B. 4,3,1,2 

C. 3,4,2,1 

D. 3,4,1,2 
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10. Which of the following skills are equally important at all levels of 

management? 

A. Technical Skills 

B. Conceptual skills  

C. Human relation skills 

D. All of the above 

fuEu esa ls dkSu lk dkS'ky izca/k ds lHkh Lrjksa ds fy, leku :Ik ls egRoiw.kZ gS?  

A. rduhdh dkS'ky 

B. vo/kkj.kkRed dkS'ky  

C. ekuo laca/k dkS'ky 

D. mijksDr lHkh 

 


